				Sonic Septic Service		Sterling Excavation, Inc.	
Item	Description	Unit	Qty	Unit Price	Total Price	Unit Price	Total Price
110111	Submersible Lift Station (All work	J	<u> </u>	<u> </u>	7014177100	<u> </u>	1014111100
	inside fence, including: wet well,						
	pumps, valves, valve vault,						
	controls, electrical work, piping,						
1	etc.)	LS	1	\$35,000.00	\$35,000.00	\$45,510.00	\$45,510.00
2	Tracer Wire Access Vault	EA	4	\$870.00	\$3,480.00	\$150.00	\$600.00
3	Air Release Valve & Vault	EA	1	\$2,200.00	\$2,200.00	\$3,500.00	\$3,500.00
4	3" PVC Sanitary Sewer	LF	2,425	\$0.94	\$2,279.50	\$8.75	\$21,218.75
	3" Restrained Joint PVC Sanitary		,		. ,		. ,
5	Sewer	LF	62	\$2.50	\$155.00	\$20.00	\$1,240.00
6	3" 45 Degree Bend	EA	5	\$6.50	\$32.50	\$115.00	\$575.00
7	3" 22.5 Degree Bend	EA	4	\$5.00	\$20.00	\$85.00	\$340.00
8	3" 11.25 Degree Bend	EA	2	\$11.50	\$23.00	\$85.00	\$170.00
9	6" PVC Sanitary Sewer	LF	6	\$30.00	\$180.00	\$50.00	\$300.00
10	Lagoon Closure	LS	1	\$3,875.00	\$3,875.00	\$7,000.00	\$7,000.00
	15" CMP Culvert w/flared end						. ,
11	sections	LF	28	\$8.50	\$238.00	\$40.00	\$1,120.00
12	Tie into Existing Sewer	EA	1	\$625.00	\$625.00	\$500.00	\$500.00
	Bore & Push 3" PVC Under						
13	Pavement	LF	62	\$14.00	\$868.00	\$60.00	\$3,720.00
14	Fence Around Lift Station	LF	164	\$24.00	\$3,936.00	\$25.00	\$4,100.00
15	Fence Gate	EA	1	\$1,500.00	\$1,500.00	\$1,450.00	\$1,450.00
	5" Layer of 2 1/2" Surface Rock,						
16	Compacted	SY	1,204	\$103.00	\$124,012.00	\$6.00	\$7,224.00
	3" Layer of 1" Surface Rock,						
17	Compacted	SY	970	\$90.50	\$87,785.00	\$5.00	\$4,850.00
18	Erosion Control Measures	LS	1	\$3,800.00	\$3,800.00	\$2,000.00	\$2,000.00
19	Seeding & Mulching	LS	1	\$650.00	\$650.00	\$2,500.00	\$2,500.00
20	Replace Manhole at station 0+00	LS	1	\$1,850.00	\$1,850.00	\$1,800.00	\$1,800.00
21	6"x20' PVC Casing	EA	1	\$1,200.00	\$1,200.00	\$250.00	\$250.00
22	Rock Excavation	CY	17	\$60.00	\$1,020.00	\$5.00	\$85.00
	TOTAL BID				\$274,729.00		\$110,052.75
	Bid Bond Included?			Y	'es	Y	'es
	Addendum Acknowledgment?			Y	'es	Y	'es
	Bidder's Qualfiications?			Y	'es	Y	'es

				Plan B De	velopment,		
				LLC		CSE Construction	
Item	Description	Unit	Qty	Unit Price	Total Price	Unit Price	Total Price
	Submersible Lift Station (All work						
	inside fence, including: wet well,						
	pumps, valves, valve vault,						
	controls, electrical work, piping,						
1	etc.)	LS	1	\$50,000.00	\$50,000.00	\$67,000.00	\$67,000.00
2	Tracer Wire Access Vault	EA	4	\$400.00	\$1,600.00	\$113.00	\$452.00
3	Air Release Valve & Vault	EA	1	\$1,500.00	\$1,500.00	\$4,000.00	\$4,000.00
4	3" PVC Sanitary Sewer	LF	2,425	\$14.50	\$35,162.50	\$10.55	\$25,583.75
	3" Restrained Joint PVC Sanitary						
5	Sewer	LF	62	\$15.00	\$930.00	\$4.38	\$271.56
6	3" 45 Degree Bend	EA	5	\$50.00	\$250.00	\$153.00	\$765.00
7	3" 22.5 Degree Bend	EA	4	\$50.00	\$200.00	\$156.00	\$624.00
8	3" 11.25 Degree Bend	EA	2	\$50.00	\$100.00	\$158.00	\$316.00
9	6" PVC Sanitary Sewer	LF	6	\$35.00	\$210.00	\$100.00	\$600.00
10	Lagoon Closure	LS	1	\$5,000.00	\$5,000.00	\$11,900.00	\$11,900.00
	15" CMP Culvert w/flared end						
11	sections	LF	28	\$50.00	\$1,400.00	\$56.00	\$1,568.00
12	Tie into Existing Sewer	EA	1	\$1,500.00	\$1,500.00	\$500.00	\$500.00
	Bore & Push 3" PVC Under						
13	Pavement	LF	62	\$40.00	\$2,480.00	\$40.00	\$2,480.00
14	Fence Around Lift Station	LF	164	\$30.50	\$5,002.00	\$50.00	\$8,200.00
15	Fence Gate	EA	1	\$1,500.00	\$1,500.00	\$900.00	\$900.00
	5" Layer of 2 1/2" Surface Rock,						
16	Compacted	SY	1,204	\$5.00	\$6,020.00	\$7.44	\$8,957.76
	3" Layer of 1" Surface Rock,						
17	Compacted	SY	970	\$5.00	\$4,850.00	\$6.76	\$6,557.20
18	Erosion Control Measures	LS	1	\$3,000.00	\$3,000.00	\$2,500.00	\$2,500.00
19	Seeding & Mulching	LS	1	\$7,500.00	\$7,500.00	\$3,500.00	\$3,500.00
20	Replace Manhole at station 0+00	LS	1	\$2,500.00	\$2,500.00	\$2,000.00	\$2,000.00
21	6"x20' PVC Casing	EA	1	\$300.00	\$300.00	\$212.00	\$212.00
22	Rock Excavation	CY	17	\$125.00	\$2,125.00	\$65.00	\$1,105.00
	TOTAL BID				\$133,129.50		\$149,992.27
	Bid Bond Included?				'es		es
	Addendum Acknowledgment?				'es		es
	Bidder's Qualfiications?			Yes		Yes	

				WEECO, Inc.		T-n-T Excavating	
Item	Description	Unit	Qty	Unit Price	Total Price	Unit Price	Total Price
	Submersible Lift Station (All work						
	inside fence, including: wet well,						
	pumps, valves, valve vault,						
	controls, electrical work, piping,						
1	etc.)	LS	1	\$42,750.00	\$42,750.00	\$38,000.00	\$38,000.00
2	Tracer Wire Access Vault	EA	4	\$169.00	\$676.00	\$50.00	\$200.00
3	Air Release Valve & Vault	EA	1	\$4,023.00	\$4,023.00	\$2,300.00	\$2,300.00
4	3" PVC Sanitary Sewer	LF	2,425	\$8.90	\$21,582.50	\$4.00	\$9,700.00
	3" Restrained Joint PVC Sanitary				,		
5	Sewer	LF	62	\$24.00	\$1,488.00	\$9.35	\$579.70
6	3" 45 Degree Bend	EA	5	\$107.00	\$535.00	\$70.00	\$350.00
7	3" 22.5 Degree Bend	EA	4	\$111.00	\$444.00	\$72.00	\$288.00
8	3" 11.25 Degree Bend	EA	2	\$119.00	\$238.00	\$75.00	\$150.00
9	6" PVC Sanitary Sewer	LF	6	\$28.00	\$168.00	\$15.00	\$90.00
10	Lagoon Closure	LS	1	\$1,900.00	\$1,900.00	\$5,000.00	\$5,000.00
	15" CMP Culvert w/flared end				. ,	. ,	
11	sections	LF	28	\$25.00	\$700.00	\$25.00	\$700.00
12	Tie into Existing Sewer	EA	1	\$580.00	\$580.00	\$1,500.00	\$1,500.00
	Bore & Push 3" PVC Under						
13	Pavement	LF	62	\$28.00	\$1,736.00	\$20.00	\$1,240.00
14	Fence Around Lift Station	LF	164	\$23.78	\$3,899.92	\$26.21	\$4,298.44
15	Fence Gate	EA	1	\$850.00	\$850.00	\$400.00	\$400.00
	5" Layer of 2 1/2" Surface Rock,						
16	Compacted	SY	1,204	\$6.30	\$7,585.20	\$2.43	\$2,930.00
	3" Layer of 1" Surface Rock,						
17	Compacted	SY	970	\$5.30	\$5,141.00	\$1.60	\$1,556.00
18	Erosion Control Measures	LS	1	\$1,450.00	\$1,450.00	\$200.00	\$200.00
19	Seeding & Mulching	LS	1	\$3,850.00	\$3,850.00	\$6,000.00	\$6,000.00
20	Replace Manhole at station 0+00	LS	1	\$3,950.00	\$3,950.00	\$1,750.00	\$1,750.00
21	6"x20' PVC Casing	EA	1	\$143.60	\$143.60	\$250.00	\$250.00
22	Rock Excavation	CY	17	\$250.00	\$4,250.00	\$55.00	\$935.00
	TOTAL BID				\$107,940.22		\$78,417.14
	Bid Bond Included?			Y	es	Y	'es
	Addendum Acknowledgment?			Y	'es	Y	'es
	Bidder's Qualfiications?			Y	'es	Y	'es

				Phillips Grading		Capital Railroad Contracting	
Item	Description	Unit	Qty	Unit Price	Total Price	Unit Price	Total Price
	Submersible Lift Station (All work						
	inside fence, including: wet well,						
	pumps, valves, valve vault,						
	controls, electrical work, piping,						
1	etc.)	LS	1	\$42,973.00	\$42,973.00	\$52,000.00	\$52,000.00
2	Tracer Wire Access Vault	EA	4	\$108.00	\$432.00	\$100.00	\$400.00
3	Air Release Valve & Vault	EA	1	\$2,300.00	\$2,300.00	\$3,000.00	\$3,000.00
4	3" PVC Sanitary Sewer	LF	2,425	\$11.00	\$26,675.00	\$5.00	\$12,125.00
	3" Restrained Joint PVC Sanitary						
5	Sewer	LF	62	\$17.10	\$1,060.20	\$35.00	\$2,170.00
6	3" 45 Degree Bend	EA	5	\$90.00	\$450.00	\$150.00	\$750.00
7	3" 22.5 Degree Bend	EA	4	\$90.00	\$360.00	\$150.00	\$600.00
8	3" 11.25 Degree Bend	EA	2	\$90.00	\$90.00 \$180.00		\$300.00
9	6" PVC Sanitary Sewer	LF	6	\$20.00	\$120.00	\$100.00	\$600.00
10	Lagoon Closure	LS	1	\$6,280.00	\$6,280.00	\$10,000.00	\$10,000.00
	15" CMP Culvert w/flared end						
11	sections	LF	28	\$33.00	\$924.00	\$30.00	\$840.00
12	Tie into Existing Sewer	EA	1	\$350.00	\$350.00	\$500.00	\$500.00
	Bore & Push 3" PVC Under						
13	Pavement	LF	62	\$51.00	\$3,162.00	\$30.00	\$1,860.00
14	Fence Around Lift Station	LF	164	\$29.50	\$4,838.00	\$28.00	\$4,592.00
15	Fence Gate	EA	1	\$500.00	\$500.00	\$820.00	\$820.00
	5" Layer of 2 1/2" Surface Rock,						
16	Compacted	SY	1,204	\$3.90	\$4,695.60	\$5.00	\$6,020.00
	3" Layer of 1" Surface Rock,						
17	Compacted	SY	970	\$3.80	\$3,686.00	\$2.50	\$2,425.00
18	Erosion Control Measures	LS	1	\$1,750.00	\$1,750.00	\$600.00	\$600.00
19	Seeding & Mulching	LS	1	\$8,400.00	\$8,400.00	\$5,000.00	\$5,000.00
20	Replace Manhole at station 0+00	LS	1	\$2,000.00	\$2,000.00	\$1,800.00	\$1,800.00
21	6"x20' PVC Casing	EA	1	\$100.00	\$100.00	\$400.00	\$400.00
22	Rock Excavation	CY	17	\$160.00	\$2,720.00	\$200.00	\$3,400.00
	TOTAL BID				\$113,955.80		\$110,202.00
	Bid Bond Included?			Y	'es	Y	es
	Addendum Acknowledgment?			Y	'es	Y	'es
	Bidder's Qualfiications?			Y	'es	Y	'es

				Lehman Construction			Muenks Bros. Construction	
Item	Description	Unit	Qty	Unit Price	Total Price	Unit Price	Total Price	
	Submersible Lift Station (All work							
	inside fence, including: wet well,							
	pumps, valves, valve vault,							
	controls, electrical work, piping,							
1	etc.)	LS	1	\$60,104.00	\$60,104.00	\$89,422.00	\$89,422.00	
2	Tracer Wire Access Vault	EA	4	\$680.00	\$2,720.00	\$175.00	\$700.00	
3	Air Release Valve & Vault	EA	1	\$3,800.00	\$3,800.00	\$4,840.00	\$4,840.00	
4	3" PVC Sanitary Sewer	LF	2,425	\$19.00	\$46,075.00	\$10.92	\$26,481.00	
	3" Restrained Joint PVC Sanitary							
5	Sewer	LF	62	\$25.00	\$1,550.00	\$35.00	\$2,170.00	
6	3" 45 Degree Bend	EA	5	\$44.00	\$220.00	\$245.00	\$1,225.00	
7	3" 22.5 Degree Bend	EA	4	\$45.00	\$180.00	\$255.00	\$1,020.00	
8	3" 11.25 Degree Bend	EA	2	\$48.00	\$48.00 \$96.00		\$530.00	
9	6" PVC Sanitary Sewer	LF	6	\$100.00	\$600.00	\$12.50	\$75.00	
10	Lagoon Closure	LS	1	\$41,500.00	\$41,500.00	\$12,200.00	\$12,200.00	
	15" CMP Culvert w/flared end							
11	sections	LF	28	\$60.00	\$1,680.00	\$48.00	\$1,344.00	
12	Tie into Existing Sewer	EA	1	\$2,000.00	\$2,000.00	\$1,975.00	\$1,975.00	
	Bore & Push 3" PVC Under							
13	Pavement	LF	62	\$60.00	\$3,720.00	\$275.00	\$17,050.00	
14	Fence Around Lift Station	LF	164	\$28.00	\$4,592.00	\$51.00	\$8,364.00	
15	Fence Gate	EA	1	\$800.00	\$800.00	\$1,200.00	\$1,200.00	
	5" Layer of 2 1/2" Surface Rock,							
16	Compacted	SY	1,204	\$7.00	\$8,428.00	\$7.50	\$9,030.00	
	3" Layer of 1" Surface Rock,							
17	Compacted	SY	970	\$7.00	\$6,790.00	\$4.10	\$3,977.00	
18	Erosion Control Measures	LS	1	\$4,000.00	\$4,000.00	\$2,750.00	\$2,750.00	
19	Seeding & Mulching	LS	1	\$7,000.00	\$7,000.00	\$3,150.00	\$3,150.00	
20	Replace Manhole at station 0+00	LS	1	\$3,800.00	\$3,800.00	\$3,650.00	\$3,650.00	
21	6"x20' PVC Casing	EA	1	\$550.00	\$550.00	\$600.00	\$600.00	
22	Rock Excavation	CY	17	\$150.00	\$2,550.00	\$125.00	\$2,125.00	
	TOTAL BID				\$202,755.00		\$193,878.00	
	Bid Bond Included?			Y	'es	Y	es	
	Addendum Acknowledgment?			Y	'es	Y	es	
	Bidder's Qualfiications?			Y	'es	Y	es	

			ĺ				
				C.L. Richardson		Emery Sapp & Sons	
Item	Description	Unit	Qty	Unit Price	Total Price	Unit Price	Total Price
-	Submersible Lift Station (All work	-					
	inside fence, including: wet well,						
	pumps, valves, valve vault,						
	controls, electrical work, piping,						
1	etc.)	LS	1	\$52,500.00	\$52,500.00	\$69,500.00	\$69,500.00
2	Tracer Wire Access Vault	EA	4	\$200.00	\$800.00	\$170.00	\$680.00
3	Air Release Valve & Vault	EA	1	\$2,800.00	\$2,800.00	\$2,550.00	\$2,550.00
4	3" PVC Sanitary Sewer	LF	2,425	\$12.00	\$29,100.00	\$12.50	\$30,312.50
	3" Restrained Joint PVC Sanitary				, ,		,
5	Sewer	LF	62	\$13.00	\$806.00	\$3.50	\$217.00
6	3" 45 Degree Bend	EA	5	\$165.00	\$825.00	\$300.00	\$1,500.00
7	3" 22.5 Degree Bend	EA	4	\$165.00	\$660.00	\$300.00	\$1,200.00
8	3" 11.25 Degree Bend	EA	2	\$165.00	\$330.00	\$300.00	\$600.00
9	6" PVC Sanitary Sewer	LF	6	\$21.00	\$126.00	\$25.00	\$150.00
10	Lagoon Closure	LS	1	\$9,300.00	\$9,300.00	\$27,000.00	\$27,000.00
	15" CMP Culvert w/flared end						
11	sections	LF	28	\$64.00	\$1,792.00	\$56.00	\$1,568.00
12	Tie into Existing Sewer	EA	1	\$1,570.00	\$1,570.00	\$1,000.00	\$1,000.00
	Bore & Push 3" PVC Under						
13	Pavement	LF	62	\$50.50	\$3,131.00	\$60.00	\$3,720.00 \$6,560.00
14	Fence Around Lift Station	LF	164	\$26.00	\$4,264.00	\$40.00	
15	Fence Gate	EA	1	\$680.00	\$680.00	\$1,200.00	\$1,200.00
	5" Layer of 2 1/2" Surface Rock,						
16	Compacted	SY	1,204	\$6.00	\$7,224.00	\$4.50	\$5,418.00
	3" Layer of 1" Surface Rock,						
17	Compacted	SY	970	\$4.25	\$4,122.50	\$3.00	\$2,910.00
18	Erosion Control Measures	LS	1	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00
19	Seeding & Mulching	LS	1	\$5,570.00	\$5,570.00	\$5,500.00	\$5,500.00
20	Replace Manhole at station 0+00	LS	1	\$2,660.00	\$2,660.00	\$4,000.00	\$4,000.00
21	6"x20' PVC Casing	EA	1	\$295.00	\$295.00	\$300.00	\$300.00
22	Rock Excavation	CY	17	\$205.00	\$3,485.00	\$135.00	\$2,295.00
	TOTAL BID				\$133,540.50		\$169,680.50
	Bid Bond Included?			Y	'es	Y	es
	Addendum Acknowledgment?			Y	'es	Y	'es
	Bidder's Qualfiications?			Yes		Y	'es

Rohrer	Excavation,	Inc.

		Homer Excavation, inc.			
Item	Description	Unit	Qty	Unit Price	Total Price
	Submersible Lift Station (All work				
	inside fence, including: wet well,				
	pumps, valves, valve vault,				
	controls, electrical work, piping,				
1	etc.)	LS	1	\$61,500.00	\$61,500.00
2	Tracer Wire Access Vault	EA	4	\$71.50	\$286.00
3	Air Release Valve & Vault	EA	1	\$4,756.00	\$4,756.00
4	3" PVC Sanitary Sewer	LF	2,425	\$18.15	\$44,013.75
	3" Restrained Joint PVC Sanitary				
5	Sewer	LF	62	\$4.75	\$294.50
6	3" 45 Degree Bend	EA	5	\$137.75	\$688.75
7	3" 22.5 Degree Bend	EA	4	\$140.75	\$563.00
8	3" 11.25 Degree Bend	EA	2	\$145.50	\$291.00
9	6" PVC Sanitary Sewer	LF	6	\$16.50	\$99.00
10	Lagoon Closure	LS	1	\$16,600.00	\$16,600.00
	15" CMP Culvert w/flared end				
11	sections	LF	28	\$34.75	\$973.00
12	Tie into Existing Sewer	EA	1	\$725.00	\$725.00
	Bore & Push 3" PVC Under				
13	Pavement	LF	62	\$31.25	\$1,937.50
14	Fence Around Lift Station	LF	164	\$34.75	\$5,699.00
15	Fence Gate	EA	1	\$1,136.00	\$1,136.00
	5" Layer of 2 1/2" Surface Rock,				
16	Compacted	SY	1,204	\$1.20	\$1,444.80
	3" Layer of 1" Surface Rock,				
17	Compacted	SY	970	\$0.60	\$582.00
18	Erosion Control Measures	LS	1	\$3,282.50	\$3,282.50
19	Seeding & Mulching	LS	1	\$10,792.00	\$10,792.00
20	Replace Manhole at station 0+00	LS	1	\$2,550.00	\$2,550.00
21	6"x20' PVC Casing	EA	1	\$3.80	\$3.80
22	Rock Excavation	CY	17	\$100.00	\$1,700.00
	TOTAL BID				\$159,917.60
	Bid Bond Included?				'es
	Addendum Acknowledgment?			Yes	
	Bidder's Qualfiications?			Υ	'es